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QUESTION 1

What are two primary concerns regarding layer two loops in a redundant topology? (Choose two.)
A. routing loops

B. costs associated with upgrading from copper to fiber

C. multiple frame copies leading to instability of the MAC address table

D. security issues with a redundant loop indicating to hackers that a back-door exists

E. broadcast storms

Correct Answer: CD

QUESTION 2

Refer to the exhibit.

Access-1(config-1f)# show run int 1/1/1
interface 1/1/1
no shutdown

no routing
vlan trunk native 1

vlan trunk allowed all

exit
Access-1(config-if)# vlan 100
Access-1(config-vlan-100)# exit
Access-1(config)#Q

What commands will successfully enable the SVI for vlan 100 on interface 1/1/1 to produce the results displayed in the
command show ip interface brief in the exhibit below?
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@)# show jp interface brief
Interface IP Address Interface Status

Tink/admin
1/1/2 No Address down/down
1/1/3 No Address down/down
1/1/4 No Address down/down

1/1/5 No Address down /down

V1anl100 10.1.1.1/24 up/up

A. Access-1(config)# interface 1/1/1Access-1(config-if)# routingAccess-1(config-if)# interface vlan 100Access-1(config-if-
vlan)# ip address 10.1.1.1/24

B. Access-1(config)# interface 1/1/1Access-1(config-if)# vlan trunk permit vian 100Access-1(config-if)# interface vlan
100Access-1(config-if-vlan)# ip address static 10.1.1.1/24

C. Access-1(config)# interface vlan 100Access-1(config-if-vlan)# ip address 10.1.1.1/24
D. Access-1(config-if)# vlan 100Access-1(config-vlan)# ip address 10.1.1.1/24

Correct Answer: C

QUESTION 3

Core# configure terminal Core(config)# vrf Green Core(config-vrf)# exit Core(config)# Core(config)# interface vlan 50
Core(config-if-vlan)# ?

Given the configuration on the CORE switch shown above, what command would follow to assign the switched virtual
interface (SVI) vlan 50 to the VRF created?

A. Core(config-if-vlan)# vrf attach Green

B. Core(config-if-vlan)# ip vpn-instance Green

C. Core(config-if-vlan)# ip vrf forwarding Green
D. Core(config-if-vlan)# routing-context Green vrf

Correct Answer: A

QUESTION 4

What command displays information regarding the secondary image installed on an AOS-CX switch?
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A. show secondary

B. show version detail
C. show version

D. show images

Correct Answer: D

QUESTION 5

Refer to the exhibit

Access-1(confiqg)# show vlan

VLAN Name Status Reason Type Interfaces
1 DEFAULT VLAN 1 up ok default 1/1/1-1/1/28
20 Engineering down no member port static

What is true regarding VLAN 50 according to the diagram above?

A. VLAN 50 is part of a switched virtual interface (SVI) that was never routed causing it to be down.
B. Since VLAN 50 has not been assigned to any enabled physical port, the status is down.

C. VLAN 50 is assigned only to Trunk ports which is why no ports are listed under interfaces.

D. VLAN 50 was never added to the vlan-database and therefore is in a down state.

Correct Answer: B
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